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Question Paper Version : A

Second Semester B.E./B.Tech. Degree Examiﬁﬁfion, Dec.2023/Jan.2024

Professional Writing Skills in English

[Time: 2 hrs.] - .. [Max. Marks: 100]

INSTRUCTIONS TO THE CANDIDATES

1. Answer all the hundred questions; each question carrie:éfﬁ,.one' mark.
2. Use only Black ball point pen for writing / darkening the circles.
3. For each question, after selecting your answer, darken the appropriate circle
corresponding to the same question number on the OMR sheet.
4. Darkening two circles for the same question makes the answer invalid.
5. Damaging/overwriting, using whiteners on the OMR sheets are strictly
prohibited.
Fill in the blank with standard English usage -
1. We are sorry to announce that the shopkeeper .
a) has expired - _b) has passed away
¢) has left off d) 1is no there.anymore
Fill in the blank with standard English usage :
2 Prepare well ; tomorrow you have a test to -
a) take b) “give c) ~consider d) givein
Fill .in .the blank with-appropriate Noun (P_r(;noun agreement) :
3. One must not lose temper all the tirne.
a) his b) her c) their d) One’s
Choose the appropriate verbs in the sentence :
4. Either the student or the teachers to blame for his performance in the final exams
2) is Coby are ¢) were d) was
Choose appro_p_r_iaté verb in the sentence :
5. Citylights_~  a wonderful movie.
a) are b) were Tooc) is d) None of the above
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Choose the correct Preposition in the sentence :

We arrived in this City thirty years My B
a) ago b) before c) by d) away

Choose the correct Preposition :

Though whatever happened was unavoidable, we are sorry the inconvenience it may
have caused you.
a) from b) with . - ¢) for _d) to

What are the features of Report wrmng'? '
a) Its written with a specific purpose b) It includes detailed information
c¢) It does not contain recomp;endatlons d) They are written casually

Front matter of Report writing consists of _
a) Introduction ~ ..b) Title Page ¢) Acknowledgement d) BothB & C

Which among the following is a Routine Report?
a) Inventqry,;ﬁl{eports b) Inspection R;__:pQrts ¢) Memo Reports  d) Both A & B

Is Proposal writing and Business plan one and the same?

a) . Yes b) No.” c) Mlght be d) None of the above
What are the methods of data collectlon in Report. wntmg"

a) Personal observation . b) Mail Questlonnalre

c) Internet d) A&B

Solicited Proposals are ' ek

a) Sales Proposal . b) Uninvited Proposal

¢) Proposed Proposal d) Invited Proposal

Written Reports are :

a) Informal in Nature b) - Ephemeral in Nature

¢) More accurate and reliable d) Easy for the speaker

Structure of Proposal includes :

a) Front matter, Main body & Back matter b) Introduction, Main body & Conclusion
¢) Background, Technical section and Summary

d) Prefatory, Main Body and Supplementary.

Will cost eStimate be included in‘a Proposal
a) Yes b) No c) May Be d) None of the above

Choose the correct form of Active / Passive voice of the given sentence :
I cannot accept your offer

a) Your offer cannot be accepted by me  b) I cannot be accepted by your offer
¢) The offer cannot be accepted byme  d) Your offer cannot be accepted
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Choose the correct form of Reported Speech for the sentéﬁée :

Suresh asked, ‘How long will it take to travel from Pune to Goa’?

a) Suresh asked how long it will take to travel from Pune to Goa.

b) Suresh asked how long would it take to travel from Pune to Goa.

c) Suresh asked how long it would take to travel from Pune to Goa.

d) Suresh was asking how long it will take'hi, to travel from Pune to Goa.

Choose the correct form of Reported Speech for the sentence ;- -

The sage said, “God helps those who helps themselves”. .
a) The sage said that God helps those who helps themselves:.
b) The sage said that God helped those who helped themselves.
c) The sage said that God helps those who helped themselves.
d) The sage said that God helped those who help themselves.

Choose correct form of Active / Passive voice for the sentence :

You need to clean your shoes properly.

a) Your shoes:are needed to clean properly

b) You are needed to clean your shoes properly

¢) Your shoes need to be cleaned properly

d) Your shoes are needed by you to clean properly.

Choose the part of sentence in'which grammatical_:;e.m‘dr is noticed :
a) Everyone knows b) Thatthe leopards are.c) faster d)_of all animals

Choose the part of sentence in which grammatical error is noticed s

a) Ever since the Government
c) the private institutions had

. b) announced its new policy
d) run into heavy weather

Choose the part of sentence in which grammatical error is noticed :

a) I believe that
c) will be'coming to Mumbai

b) next time when you
d) youwill bring my book

Choose the pair of word/phrase from th:e':'o"ptions given that best describe the
relationship to that of the given pair:

LIGHT : BLIND
a) speech : dumb
¢) tongue : sound

Complete the analogous pair-

___aspiano is to play.
a) cobbler is to needle
¢) book is to read

Complete the analogous pair :

Helmet is to head as
a) Open is.to up
¢) positive is to credit

b) language : deaf
d) voice : vibration

b) kitchen is to pen
d) Carpenter is to shovel.

b) Mask is to face
d) negative is to debit
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- Choose the appropriate option :

The childless couple visited the orphanage to 5'_ch"ild.
a) adopt b) Adapt c). Odopt d) Adapted

Choose the appropriate option :

You are quite right in saying so : iy \
a) Qiete b) Quiet W) ©) Quite d) Queit

Fill in the blanks with appropriate verb that would complete the collection :

Abbreviations space aﬁd hence they are common in hewspaper headlines.
a) catch b) save c) take d) use

Choose the correct options by maintaining correct subject — verb concord :

Which of the days .~ you the most?
a) suit “o . b) suits _c) bothA&B d) None of the above

The principle advantage in having a clear cut objective of business is that it does not derail
. the enterprise does not stray . (1) the direct route that it has set for B
Entetprises with well — defined objectives can conveniently undertake __(3) __ and follow
long"range development policies.” Recognition of objectives _ (4)  the temptation to
compromise long range objectives for short term.gains and improves co-ordination in work
and consistency in policy.. B g

1) a. from “b. on c along d. towards
2) a. others | b. industry C itself | d. government
3) a. progu.ct'ion b. resea’f‘éh.' c. audit | d. appraisal
4) as-invites b. defers c. shd’cs d. removes

Choose the correct optioﬁ' :

-a) Linguistics is an int'efesting subject_~ * b) Linguistics are an interesting subject
¢) BothA&B. _ d) None of the above
Choose thc‘*gﬂqf‘vréct option : "

a) Soﬁéﬁpé is knocking at the Eioor, who could he be?
b) Someone is knocking at the door, who could they be?
¢ BothA&B " d) None of the above

Choose the correct option :

a) Some of them'still feels that they both are at fault.
b) Some of them still feel that they both are at fault.
¢) BothA&B . d) None of the above
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What is the position of “Details of the recipient” in a fom:n _. etter?
a) Left hand side b) To hm}d%lde
c) Below the salutation d) Be’iiaw the complimentary closure

Which of the following elements is not mcludcd in ‘standard elements’ in the business
letter?

a) Letter head and date b) Salutation

¢) Subject line ~d) Signature block <.

Why do we write letter of apphcatldﬁ“? A

a) To request the employer to do a favour by giving a _]ob" o

b) To let the employer know of our address so that they: can 'send offer letter

¢) To let the employer know of our writing skills. -

d) To provide the true: information of ours and to mention why and how we are
the suitable candldate for the job. %,

What is the standard font size

a) 10-12 (", - b) 8-10 -¢) 12-14 d) 6-8
CV- Cyr-_z_‘_iéd":lum Vitae is used by .

a) Trainers b) Experience Professionals

c) ,Fres}l‘i’ers d) All ofthe above

Which is the most commonly used letter layout?--.

a) Semi— Block layout . b) Smlphfied layout«

c) Formallayout - .~ d)- Full Block layout -

Which of this is not-a type of Resume?” .

a) Chronological Resume . b) Hybrid Resumc

c) Biodata: d) Non- Tradltlonal

What is the full form of BCC2,
a) Bold'Carbon Copy =
¢) “-Broad Carbon C0py

b)* B ‘d Carbon Copy
d) Blade Carbon Copy

a) Casualness . b) Cheap c) Fast d) Flexible
Blog is also calféd as

a) Webspaéé b) Wej.)LOg c) Web - Blog d) My space
Use ~to keep your blog catchy.

a) Stylish fonts +b)=Fancy colours c¢) Pictures d) Media links

Which among these aré" stumbling blocks of an effective Reader
a) Readingaloud  b) Regression ¢) Developing eye Spand) Both A & B

Which among the following is not a strategy for effective Reading?
a) Skimming b) Scanning . ¢) Speed Reading d) Extensive Reading
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What is a Paragraph? L

a. aparagraph is a series of sentences about one: ‘main 1dea or point.

b. A paragraph typically starts with a point and the rest of the paragraph provides
specific details to support and develop that pomt

c. A paragraph is the main idea of an essay. .

a) AandB b) AandC ¢) Allofthe above «d)BandC
What is not a feature of an essay? . |

a) Unity b) Coherence .

¢) Expansion & Emphasis d) Source Infonnatlon

Chronological resumes arée t.fsod for

A. Showing a stead and growth in particular career field.

B. Provides Educatlonal‘ ‘history.

C. Provides work experience history.

a) AandB .. b) AandC ) Alloftheabove d) Band C

The followmg form of condensation mvolves the writing to highlight the purpose and
scope of work.
a) Syﬂopsis b) Abstract c) Paraphrase d) Summary

Choose the correct statement -

a) Sheela herself only did thlS prOJect b) Sheela did this project all by herself
¢) Sheela did this prOJect all by herself only :

d) Sheela did this prQ]CCt by self.

Choose the correct statement : o, ¥ S
a) Yesterday, I went for a movie . .. b) Yesterday, L will be going for a movie
c¢) Yesterday, I am going for a mov1e d) Yesterday, Movie I go.

Choose the‘correct answer ©
a) Ir--am here only

c) Ihere d) None of the above

Choose the correct answer
a) Lets collaborate together and do the pI‘O_]eCt

““h) Lets collaborate for the project.

™y ¢) Lets collaborate with each other and do the project.

59,

60.

d) None of the:above.

What are.;jthe-eiements of ProféSsional writing?
a) Introduction : b) Classifying
¢) Providing evidence.and example d) All of the above

Since an urgent email requires immediate attention, we must choose to write the entire text

in capital letters.:
a) True | ) Fase
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Read the following passage and answer the questlons that follow :
[Q. No 61 — Q.No 65]. he

Many sociologists have argued that there is ﬁmctlonal relationship between education and
economic system. They point to the fact that mass formal education began in industrial
society. They note that the expansion of the economics of industrial societies is
accompanied by a corresponding expansmn of their educational systems. They explain this
correspondence in terms of the needs of industry for skilled and trained manpower, needs
which are met by the educational system. Thus, the provision of mass elementary
education in Britain in 1870 can be seen as a response to themeeds of industry for a literate
and numerate workforce at a time when industrial processes were becoming more complex
and the demand for technical skills was steadily growing.

The industry needs a literate work — force because

a) its expansion needs sound learning b) “it relies heavily on expertise
c) it promotesa competitive spirit -

d) its operations need intricate technical knowledge.

The author argues that

a) formaleducation can be traced to industrial society.

b) industrial society is responsible for expansion of education at mass level
¢) industrial society gave rise to.vocational education.

d) industrial society changed the pattern of education.

The observation of the sociologists are based ona study of

a) the statistical data available in a historical context.

b) Economic system of the 19" century.

¢) the co-relation between industry and education in a hlstoncal context,
d) growth of industry 19" century.

The sociologists referred to it.in the passage say that the relationship between industry and
elementary education was one.

a) 'based on mutual need

b) based entirely on the need of the mdustry

c) based entirely on economic need

d) based on some inexplicable historical forces

By “functional relationship’ is meant
a) ashort —term relationship- b) practical and utilitarian relationship
¢) temporary arrangement = d) close and unbreakable relationship

What are transitions in Paragraph writing?

a) The sentences that express the main point, or idea, of a paragraph.

b) Reasons, examples and other details to support the main point of the paragraph

¢) Signal words that increase the effectiveness of organizing support for each paragraph,
using time order or listing order.

d) A series of sentences about one main idea, or point.

.

Ver-A Page 7 of 10



67.

68.

69.

70.

71.
72.

73,
74.
78
76.
Fors
78.
79.

80.

21EGH28

A majority of India’s population quite hard workmg

a) has always been b) have ._a’iways been

c) had always been d) None of the above

Even after several long hearings, the jury . sh“arply divided on the verdict.
a) was b) were : C), have d) had

Choose the correct option based on modlﬁers :

A. Being raised in the sand, the p,@rents knew that the castle would not settle.

B. As the castle was being ralsed in the sand, the parents knew that it would not settle.
a) A b) B 81 c) A& B B d) None of them

Choose the correct option’ based on modifiers :
A. He retook the test to improve his score.
B. To improve his scgre ‘the test was taken agam

a) A .b) B c) "‘A&B d) None of them
Choose the cottect meaning of proverb / mho?m To cry wolf

a) to listen eagerly . b) to give false alarm

c) to tum_pale _ d) to keep off starvation

Choose the correct meaning ofﬁﬁverb / idiom : to smell'a-rat

a) to'see signs of plague epld@ﬁnc b) to ge?%bad smell of a dead rat

¢) to suspect foul dealings , d) 0 be in a bad mood -

His health smceﬁﬁekleﬁ the city.

a) Improved ““b) has lmproved c) had 1mproved d) could improve
I bought ..oranges.

a) greatsomebig  b) big grqgt some ) some greatb1g d) great big some

What is feminine of lion? _ R e
a) Llon b) Llons ¢) ".Lioness d) Lionies

Choose the incorrect response :

' _a) person - people  b) lady - ladles . ¢) man-men d) photo - photoes
Choose the uregular plural :
a) wives . b) mice., c) shelves d) books
Are you' affendmg receptlon today?
a) a b)_\ an c) the d) no article

She wants to become,ﬁ:-w;. engineer.
a) a b) an c) the d) no article

Does wood sink in water? (Which word is a material noun?]

a) sink b) does c) water d) wood
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The vase I bought in Walmart broke when I dro .

a) who b) whose c) whlc d) where

The brides were much than the grooms. . * .~

a) young b) younger ) youngest d) None of these
The Ship to the bottom of the sea: v

a) sank b) sink . ¢) sinking ~d) sunking

It was pitch dark, however, there_ - a ray of light that came from the farmer’s hut.
a) was b) s c) canbe . d) could be
Terry sleeps in the afternoon. He considers it a waste of time.

a) usually b) “often c) sometimes d) never

I don’t like this vegetable

a) Uh! b) Oh! . ¢y Ugh! d) Whew !
The local team'scored 3 goals the ,ﬁrst .half of the match.

a) at 4 b) for ~¢) in d) on

) you ’ve got a chance you ‘might as well make full use of it.
a) AS soon as b) Now'that c) Although d) After

Interpersonal Commumcatlon 3

a) Entails communieation with another person

b) denotes communication with one’s self.

¢) isaprocess in which individuals connect with ammals
d) allof the above -

What 1s true about body language? 9 S

a) Itsoften considered the most ‘honest’ form oﬁfo?nmumcatlon
b) It’s'the same in all culturo """ 55

¢) '-Most people don’t pay attention to others body language.

d). All of the above.

- The tone of the Speaker should be

a) loud (% b) clear  +  c¢) low d) soft

Which of _thé“'t"‘]ualities are lmpOItantm Group discussion?

a) Emotional stability b) HOst-ility ¢) Ignorance d) Aggressiveness
Facial expressions are a part of ?

a) Gestures o b) Sign language

c) Body language d) Verbal communication

The first ob}ectlve in group discussion is to :

a) catch the'group’s attention b) prove your superiority

c) act as asself — appointed leader of the. group

d) create sub - group
Ry Ver-A Page9 of 10
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95. How should you start to write email body?

a) state the point of discussion

c) write warm — up sentences
96. What is the order of interview process? ; | 7

A. Personal Interview Screening of Application

C. Aptitude test . Group Discussions ~

a) dcab cadb “d) abced

,.g;:";" v

97. Why do they conduct Aptitude ] e

a) to understand your te to undei[vsftj&d your behavior

c) to understand your logical All of the above

essfully for your mt&;?gw‘?

ofile b) “know yourself — strengths / weakness
nterview questions d) All of the above

aﬁ@fm

sation in Professional situations?

98. How should you pr

99,  What is the most'common form of co

100. Co &%mﬂiﬂg is also called ;
a) formative listening
c) Appreciative listening
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